
CIRCLE	Interview	Severe	Incidents	Selection	Decision	Tree	

Top	three	incidents/conflicts	should	always	be	the	most	aggressive	(greatest	number	of	behaviors)	or	the	highest	level	of	conflict,	unless	indicated	otherwise.	

	

	

	

	

	

	

	

	 	

	

	

	

	

	

	

	

	

	 	

Are	there	at	least	two	
aggressive	incidents	
WITH	spillover?	

Is	there	at	least	one	
aggressive	incident	
WITHOUT	spillover?	Yes	

No	

Yes	

No	

IDEAL	Top	Three:	
2	Aggressive	w/	Spillover	

1	Aggressive	w/out	Spillover	

Is	there	at	least	one	
aggressive	incident	
WITH	spillover?	

Top	Three:	
3	Aggressive	w/	Spillover	

Yes	
Are	there	at	least	two	
aggressive	incidents	
WITHOUT	spillover?	

Yes	 Top	Three:	
1	Aggressive	w/	Spillover	

2	Aggressive	w/out	Spillover	

No	

Is	there	at	least	one	
aggressive	incident	
WITHOUT	spillover?	

	

Yes	

No	

Top	Three:	
1	Aggressive	w/	Spillover	

Query	2	conflict	
	

No	

Query	for	most	
stressful	or	upsetting	
conflicts	until	three	are	

identified	

Are	there	three	
aggressive	incidents	
WITH	spillover?	

Yes	

No	

Top	Three:	
2	Aggressive	w/	Spillover	

Query	1	conflict	

Are	there	three	
aggressive	incidents	
WITHOUT	spillover?	

Yes	

No	

Of	the	top	three	most	
aggressive,	is	at	least	
one	involving	IPA	and	

one	PCA*?	

Yes	
Top	Three:	

3	Aggressive	w/out	Spillover	
	
	

No	

Of	the	top	three,	is	
there	only	IPA	
aggression?	

	

Yes	

Of	the	top	three,	is	
there	only	PCA*	
aggression?	

Yes	

Are	there	two	
aggressive	incidents	
WITHOUT	spillover?	

No	

Yes	
Of	these	two,	is	at	
least	one	involving	
IPA	and	one	PCA*?	

No	

Is	there	only	IPA	
aggression?	

	

Yes	

No	

Is	there	only	PCA*	
aggression?	

	

Yes	

Is	there	one	
aggressive	incident	
WITHOUT	spillover?	

No	

Yes	 Is	it	only	IPA	
aggression?	

	
Yes	

Is	it	only	PCA*	
aggression?	

	

No	

Yes	

*	For	PCA	incidents,	the	reporting	parent	must	have	
been	involved	or	present	during	the	incident.	
	
**When	the	top	three	aggressive	incidents	only	
contain	one	type	of	relationship	(IPA	or	PCA)	but	less	
severe	incidents	contain	the	other	type	of	
relationship,	the	interviewer	will	use	the	top	two	
most	severe	incidents	regardless	of	relationship	(e.g.,	
IPA)	and	a	less	severe	incident	with	the	missing	type	
of	relationship	(e.g.,	PCA).	
	
IPA	=	intimate	partner	aggression	
PCA	=	parent	to	child	aggression	
Spillover	=	IPA	and	PCA	in	same	incident	

	

Yes	
Top	Three:	

2	Aggressive	w/out	Spillover	
Query	1	conflict	

	
	

Top	Three:	
1	Aggressive	w/out	Spillover	

Query	2	conflicts		
(at	least	1	PCA)	

Top	Three:	
1	Aggressive	w/out	Spillover	

Query	2	conflicts		
(at	least	1	IPA)	

No	

2	Aggressive	w/out	Spillover	
Query	1	conflict	(at	least	1	PCA)	

	

2	Aggressive	w/out	Spillover	
Query	1	conflict	(at	least	1	IPA)	

	

1	Aggressive	w/	Spillover	
1	Aggressive	w/out	Spillover	

Query	1	conflict	

Top	Three:	
3	Aggressive	w/out	Spillover	

	
	

Is	there	only	IPA	
aggression	for	all	

aggressive	incidents?	
	

Yes	

No	

2	Aggressive	w/out	Spillover	
1	Aggressive	w/out	spillover	with	PCA**	

	

Is	there	only	PCA	
aggression	for	all	

aggressive	incidents?	
	

Top	Three:	
3	Aggressive	w/out	Spillover	

	
	

Yes	

No	

2	Aggressive	w/out	Spillover	
1	Aggressive	w/out	spillover	with	IPA**	

	


